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SCHOLARS ACADEMY

a)
c)

a)
c)

a)
c)

a)
c)

c)

General Intelligence and
Reasoning

. In the following question, select the related word

pair from the given alternatives.
Rain : Clouds :: ? :?

ﬁ;rl%r@auarﬁﬁqwﬁm‘rﬁﬁmﬁmww

@1 g

qui: gIge::?:?

Rice : Food/dTdd : W@THT b) Grey: Colour/ﬂﬁ'cpf XUl
Heat : Sun/TTH : E[ff : Mountains/d% :

d) Snow
gad

In the following question, select the related letter
pair from the given alternatives.

uy # fau v fawel & ¥ I=Ra AR
Wﬁqﬁm
TOM:NIG::?:?
EAT : YUN b) EAT: XXM
FAT : LMV d) EAT:ZXC

In the following question, select the related number
from the given alternatives.

fruafafad uy A foe e e & @ gwafRa Jen &)

43:7::23:?
6 b) 4
7 d 5

In the following question, select the odd word from
the given alternatives.

%ﬁgﬁ%@awﬁ%qwﬁwﬁﬁﬁﬁmwﬁ
I

Goggleﬁﬂlﬁ b) Purse/Td
Accessories/TgTI® ATHH! d) Belt/deT

In the following question, select the odd word from
the given alternatives.

%ﬁgﬁ%@awﬁﬁqwﬁm’fﬁﬁﬁmwaﬁ
|

Grapes/3TR b) Guava/3TH¥®q
Cauliflower/W'ﬁﬂ-ﬁ d) Orange/deRT
In the following question, select the odd number

pair from the given alternatives.

Frafafaa vy o e e fawen & I faww S gm

3t gfg|
76 - 42 b) 92-20
73 - 21 d) 93-27

According to dictionary, which of the following
word will come at THIRD position?

F IR, Frafafea & ¥ Fi9-91 T AR
R W 3MATM?
1) Heritage

c)

a)
<)

a)

c)

10.

a)

11.

a)
c)

12.

a)

13.

2) Helpful
3) Hectic
4) Heroic
5) Heroism

Hectic b) Heritage

Heroic d) Helpful

A series is given with one term missing the correct
alternative from the given ones that will complete
the series.

TS I3 forar w3, o @ v ue gw 31 fig e

%mﬁﬁﬁﬁﬂﬁﬁmﬁﬁmmmﬁw
|

F,M,T,2 H,O

B b) C

A d D

A series is given with one term missing. Select the
correct alternative from the given that will
complete the series.

T A foar man 3, o @t ug g 31 feg g
fawedl d & a5 Wl faww gfg, S srgwa & qR1
Ll

ROK, LIE, FCY, ZWS, ?

LAQ b) SRV

QM d) FMQ

In the following question, select number from the
given alternatives.

Fruafeafaa uy # fow e A ¥ y1a Fifsm)
14, 22, 49, 113, 238, ?

386 b) 532

454 d) 576

In the following question, select the missing
number from the given alternatives.

Frafafeaa vy & fer e faee & @ qw of@ g

BHiforg|

14, 44, 135, 409, 1232, ?

2962 b) 3340
3702 d) 3406

E is sitting between D and A, B is to the right of A, C
is at one of the ends and C and D are sitting next to
each other. Who is sitting third?
EDRAFHTIIBTR, B, AF a3 g, €, T

RR W 2 3R ¢ R Dwgﬂ%%wﬁa%%l ?ﬂ#\f
RIM W I 9371 52

D b) A
B d) E

Showing a photograph of a married couple B said
that the gentleman in it was his father's father and
A said that the lady in it was her mother. How isA
related to B?

-2 SIS &1 Wie! fa@Td gu B 7 we1 fr gad
N TS & 3 U frar & far ¥ R A A TET B
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SCHOLARS ACADEMY

a)

c)

14.

a)
c)

15.

a)
c)

16.

a)

17.

a)
c)

18.

a)
c)

19.

?ﬁﬁwﬁ%ﬁwﬁmmlsﬁmmmﬁm
?

A is B's mother's sister/A, b) Ais B's sister/A, B CHK Rl
BHI A H TR | g

A is B's Father's sister/A, B d) A is B's mother/A, B 1 A

FRaH T

From the given alternative words select the word
which cannot be formed using the letters of the
given word.

Fafafea foeel 9 & a8 I gfe o g T o
& SHERT BT VORI PP TGl 99T ST Hohdl-

MERCANTILE
truce b) learn
trace d) claim

If OLYMPUS is coded as MJWKNSQ, then how will
TEN be coded as?

Tfé OLYMPUS & ®1s ® MIWKNsQ ferar wirar 8, &Y
TEN &1 &S o T ferd?
RCL

SDM

b) GVM
d) UFO

In a certain code language, 1875 means ‘wound the
round watch’, 1643 means 'a cake is round” Land
7321 means 'watch a round wheel'. Find the code
for 'watch’.

et fAifdra wYs yrar & 1875 &1 31 8 'wound the
round watch' 1643 &1 31 % 'a cake is round’ Gﬁ?
7321 BT 31 § 'watch a round wheel' ‘watch’ & forg
Prs Jd HI|

1 b) 8

5 d 7

In a certain code language, '+’ represents '-', ‘-’
represents 'x', 'x' represents '+',and '+' represents
"+'. Find out the answer to the following question.

et fAfia o wror d -+, -
'x' B UgRRfd srar 8, 'x', '+, P yehia Fwar 8 iR
'+, '+ DY USRI Hear ¥ Frafif@a vy &1 3w 34

0

96 x4 +125 +25-57?

23 b) 24

50 d) 8

If 17 $ 22 = 4 and 56 $ 13 = 7, then find the value of

71$25=7?

e 17$22=43R56$13 =7a71$25=2 &I
A 19 HY?

56 b) 96

1 d) 8

If A$ B means A is son of B, A # B means A is
brother of B and If A * B means A is father of B,
then what does X #Y * Z $ W mean?

a)

c)

20.

a)

c)

21.

c)

22.

AEASBIHTISRfF A BHT R A#BHT TG
fPaBPTUER AR IR A*BFT ISP A BT

g @ x#v*zswaTFm g2
W is X's brother's wife/W, b) W is X's wife/w, X CARCE
X & WIS B Ul § 6l
V\\/_J is X's mother/W, X &1 d) W is X's sister/W, X P
Eif K]
Select the missing number from the given
responses:
fou ¢ fawedl ¥ & g wEw gl
1 4 2
2 7 10
3 ? 12
3 b) 9
-3 d 11

A scientist is studying the behaviour of an ant. The
ant picks food and walks 5 cmNorth, then it turns to
its right and walks for another 11 cm. Then it turns
right and walks 3 cm, then it turns West and walks
15 cm, then finally it turns to its left and walks 2 cm.
Where and how far are the ants now from their
initial position?

difedl & gagR &1 wa TR I 7
iﬂé’r WHT BTSN 5 HETHE IW PI 3R Fad] 8 oK
Y 9g IR 3R gear 11 AR gadt 81 e
g : et 3R geav 3 AdHiex et @ ik fhr
ug UfdH B iR GeaY 15 ey Tadt g1 o A
Wamﬁaﬁah?gs?ﬁ%aﬁ?zﬁatﬁam%l did
T 3t yRMA fRufA A Fel ok frat gw &2
4 cm East/4 cm 116 b) 26 cm West/26 cm ufgy

4 cm West/4 cm TigH d) 26 cm East/26 cm Uj

In the question two statements are given, followed
by two conclusions, | and Il. You have to consider
the statements to be true even if it seems to be at
variance from commonly known facts. You have
todecided which of the given conclusions, if any,
follows from the given statements.

Statement

I: Some chapters are physics.

Il : Some science are physics

Conclusion

I: All science are chapters

Il: Some physics are science

Yy # ) Y A T g e om 3 fsed 1 3w 11
o T §1 U AT @ f Al duT a €, 9
98 9 3id a9 i udia gia 81 simust
forofg ®eam @ 6 fiw e el # & S9-9/@H-3
fAfa T @ $Y7 gR1 I HeTan o gear 8/a%d
g, af I3 g

YT

I: $O AT Wfaet §

II: S g Hifast 3

e -

1. gt fagmeT ereama @
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SCHOLARS ACADEMY

Il: $° Wfas) o= 8
a) Only conclusion | b) Only conclusion Il
%anows/éz—cm ey | O %)IIOWS/W fr=py || w8t

c) Both conclusions | and Il d) Neither conclusion | nor

foIIow/ﬁ ey | 3R 1l conclusion 1l follows/d ar
B frep el © 7 8 e |

23. Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

fFrafafaa Sw erefa & ¥ #9-31 99 iy T uy
STHd & G 99 I I g1 A1 FPHan

O]
+ % |0

[

24. In the following figure, square represents
professors, triangle represents Social Workers, circle
represents Dieticians and rectangle represents Men.
Which set of letters represents Dieticians who are
not men?

fafafad fg & of, Mvad # yelfa @@ g,
Ay iz abd @) velfa s €, 9 sadifng
B 3R Tad TF B U RIT Fear 31 &Ry BT BA-
%a%:s'wmﬁmaﬁua&hmé Silica )

a) EFGI
c) IGAC

b) BDKHJ
d) DEJI

25.

<)

26.

a)

c)

27.

a)

c)

28.

Which of the following Venn diagrams represents
the relationship between Butterflies, Animals and
Insects?

frafafea # @ ®9-31 39 o faaferay, SHaRT ok

Bl & 9 W giaT 82 @
© O

b)

d) %
Which answer figure will complete the pattern in
the question figure?

¥ q oF-d IW Tpfa uy anpfa &
wfoesu &Y g iz

7

b)

d)

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& i IR Srpfaal ¥ | 39 snpfa Y giw o
wy mpfa fAfga 31

N

b)

d)

If a mirror is placed on the line MN, then which of
the answer figures is the right image of the given
figure?
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SCHOLARS ACADEMY

c)

29.

c)

30.

d)

In the question three statements are o -followed by
three conclusions, |, Il and Ill. You have to consider
the statements to be true ever if it seems to be at
variance from commonly known facts. You have
todecided which of the given conclusions, if any,
follows from the given statements.

Statement

I: All success is victory

1I: All luck is success

Il : Some hard work is luck

Conclusion

I: Some success is hard work Conclusion

1l: Some hard work is victory Conclusion

111 : No victory is luck

uerﬁ'cﬁera?'eﬁﬁﬁnﬁ% o emt = s 1, 1
MR m e M srrqaﬁqm%ﬁ?aﬁrmw
T4 g, aﬁﬁéﬁ'm wrd et A e e €19 g

W%ﬂwﬁ% !T%aﬁ's‘s‘rl
YT :

1. 9 Ipadr fasa @

I: it WG TwaaT

: ﬁm %
P

Il: T AgTd Tl &
. &1 faorg yrg g @

Only conclusions | and Il b) Only conclusions Il and

follows Pad f=py | 3R llifollows Pad sy ||
IR AR 1 9ET ]

Only conclusions | and Ill d) All conclusions |, Il and Il
follow Had fIHY | 3R follow &I Feapy 1, 11 3R
IKEH KGN
MR A fFm afg?

How many squares are there in the given picture?

a)

c)

31.

a)

c)

32.

33.

a)

c)

34.

a)
c)

35.

a)

7 b) 12
8 d) 10
Mathematics

Which economic activity cannot be included in the
tertiary sector?

qﬁ%ﬁ@ﬁﬁaﬁqwﬁaﬂ%wﬁﬁfﬁmﬂﬁﬁm

Working in a call-centre/ b) Tuition occupation/ &R
Bl Yex B B HAT IR

Bee-keeping/ ~ TYHSE! d) Banking/afd T
qre

Which of the following five year plan of India
recognized human development as the core of
development efforts?

fFafafea 4 ¥ 5w uRd daadfa diemar 3 |
faer e worel & 9R & U § 9H9 e $1
AT &1

Eighth five year plan/ b) Ninth five year plan/ Y

Tenth five year plan/ d) Eleventh five year plan/
Which of the following thinker is associated with
the concept of political sovereignty?

3T A P RS "Iefae YT« @1 Thed-r
@ Fwfi @2

Maclver/ﬁm b) Socrates/JPId
Rousseau/&d! d) Plato/@iel

Who said, "A good citizen makes a good state and a
bad citizen makes a bod state?

fPaa Fo1 U1, TP 3BT ARG T ST Iy STl
2 3R T AN TH R I 14T 82

Plato/@iel b) Aristotle/3R¥

G. B. Shaw/St.a&t. =1 d) Rousseau/&!

According to Indian Constitution, who decides the
Salary of members of Parliament?

YRAHT JfAUH & IR, TG & el & da- &1
i ®19 S 82

Unions Council of b) Parliament/39q
Ministers/dbg1d HEURYE
Supreme Court/ 3=dH d) President of India/HRd

RG] CARLI]

Mob. - 01141676717,9312712114

Page 5




SCHOLARS ACADEMY

36.

a)
c)

37.

c)

38.

a)
c)

39.

a)

c)

40.

a)

c)

41.

c)

43.

When did the Chinese traveler Sung Yun' come to
India?

A AR W g YR B9 7T UT?

510 AD/510 . b) 518 AD/518 &.

525 AD/525 §. d) 528 AD/528 §.

Which among the following state Odantpuri
education center was situated?

egdt fran & Fafafea & @ fpw = 4
AT T |

Bengal/avTTed b) Gujarat/TeRTd
Bihar/fS8R d) Tamil Nadu/ﬁﬁ?ﬂ'@'

Who was the founder of Bahmani Kingdom?
TEHH! AU BT HRIUS DI UT?

Hasan Gangu/gd 7] b) Firoz Shah/fthRIS T8
Mahmud ~ Gawan/HgHa d) Asaf Khan/SRith @l
a1

During whose rule in India did the Khilafat

movement begin?

YRd & frae Imaa & idilia Raared s<ia &1
SRY 3T YUT?
Dalhousie/avé

Lord Mountbatten/ WIS b) Lord

Lord Chelmsford/@T8 d) Lord Curzon/dT8 ol
Who among the following was the founder of the
Arya Mahila Samaj in the early 1880s?

1880 & G & URFH H 4 e HHS o RITAT
4 & for o

Swami Dayananda b) Swami Vivekananda/

Saraswati WM GIH—< W} faadTe
BSREShl|

Ramabai Ranade/RHTETS d) Pandita Ramabai/ ufgar
S EICIE

Dasht-e Kavir Desert is located in which country?
aA-U-PIRR woed frw 3 & R 32

Iran/é?l:[ b) Saudi Arab/ TSel 3R
Iragq/SXTh d) Sudan/JsSiH

Which of the following layers is called "Barysphere?

fFrafafed # 3 59 R F "IN IWR" 81 Sar 82

Earth's most internal b) Earth's intermediate

layer/gdl  ®HI  WEH  layer/Jdl &I AT URd

3T TR

Earth's topmost d) Lowest part of the

Iayer/Ej’Eﬁ P IEH S atmosphere where

Wd climate changes
occur/dIgHSA ®T FaH
[ERSIE IS I
TRadT AR &

The Blue Nile river originasts from which of the

following lakes?

a)

c)

44.

a)

c)

45.

a)
<)

46.

a)

c)

47.

a)

c)

48.

c)

49.

a)

c)

50.

a)

&7 e =} Fafafaa 9 @ fra sha @ fFead @2
;%g? Victoria/ faaeifean b) LakeTana/ﬁﬂT%ﬂﬁ

Lake Edward/TSds 3

Which of the following states of India has the
largest percentage of geographical area under
forest as per the report of the Forest survey of
India?

YRAG a9 qd&or 3t RUid & AR WRd &
fFafafea 7 | few =0 d Wiifee & o1 9aifte

d) Lake Albert/3esc 3iid

wfa=a a9 & 82
Manipur/HfOTgR b) Meghalaya/HaTed
Mizoram/feiRA d) Nagaland/ARTAIUS

At which of the following towns the Alaknanda and
the Bhagirathi combines to form River Ganga?

frufafEa TR § sree-r vd YRR wat faee
T Y I 82
b) Rishikesh/B&HT

Haridwar/8RgR
Rudraprayag/®SWdlT d) Devprayag/aTﬂ;RJW
R s

T3 fieelt & wodige sodf wdh
AR & URd & 783 AsURER B 2

Who became India's 78th Grandmaster at the MPL
59th National Senior Chess Championship in New
Delhi?

sfee i Aditya Mittal b) UUId 3G Pranav Anand
DIRAd TSl austav d) a1 WU V Pranab

Chatterjee

Headl 2023 ® g A | forw A d9c A Ioie 9w fram

Who among the following presented the budget in
the Parliament in February 2023?

tﬁ'&;ﬁ[l gd Piyush Goyal  b) fadem  SAaRAE Nirmala

Sitharaman
died 1€t PM Modi

d) 3ifd AE Amit Shah
Flg goie 2023 & pa -t wrafremarsit w1 3a=
forar mam

How many priorities were announced in the Union
Budget 2023?

07 b) 08
09 d) 03

fraat 7 fd sru=m a1 werfa fFrge far &2

Who has been appointed as the new Secretary

General by FICCI?

A UT6a Shailesh b) 30T FHR Arun Kumar

Pathak

Sdd Rl Jayant Sinha  d) 3ol RiE  WRER Ajay
Singh Parmar

Dot Matrix is a type of
sl PITHUPRE |
Tape/cU b) DISK\[$¥®
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c)

51.

a)

c)

52.

a)
c)

53.

a)
c)

54.

a)

c)

55.

c)

56.

a)

57.

a)
c)

58.

a)

Printer/ e

The secondary storage devices can only store- data
but they cannot perform

W @ T8 B ThA T

Arithmetic  operations/ b) Logic operations/ dfche
BTN STURRITH BIRGIGE]

Fetch operations/av_d d) All options are
correct/g} fadbeq gl %I

d) BUS\SH

In the modern periodic table metals, metalloids and
non metals are found in which block?

YfIe amad IRl F urg, Iuurg aur furg fEw
e | U 91 §?

s-Block/s-&dld b) p-block/ p-s_c'IVW
d-block/d- sl d) f-block/f- sdld
Cinnabar is ore of which of the following?
Frafafea o & RAeR fFaeT s/ 72
Magnesium/ﬁmﬂ b) AIuminium/Q?g&IﬁtlTl
Mercury/URT d) Iron/dligT

In which of the following mirror size of image
formed is always equal to the size of object?

fuafafea & 9 @19 9 oo § ufafew &1 PR
I fo & PR & JHH g1 82

Convex mirror/BT‘lFTE{CfUT b) Concave mirror/3{ddcl
gy

Plane mirror/a9dd GYUT d) Both convex and concave
mirror/ 3T gqur qur

3{qdd U gt

Mass of a hydrogen atom is how many time the
mass of an electron?

TS TSI WU $T GEHAN UH SAGRH &

FoTHT BT fa=T A1 gHaT 82
1000 b) 8000
1837 d) 5000

Which of the following term does NOT represent
electrical power in circuit?

fiafafea & & o9 W ug fagga oy & fagga

e &t Fefira 181 Fware

IR b) IR?

VI d) V¥R

Which is a water soluble Vitamin?

faerfs sa o ga=ita 82

Vitamin A/ faeTfi=A b) Vitamin C/fdeTfiA C
Vitamin D/fde1f&= D d) Vitamin K/faeTfim K

How many number of chambers are there in uman
heart?

A4 g¢4 # wail @) T fhast gidt 22
Two/al b) Three/dH

¢) Four/@R d) Five/dra

59. Which of the following is NOT presentin a matured
stomata?

TP qa% ¥y # Fofafad § ¥ @19 91 SufRa T8
gl §?

a) Plasmodesma/ Sldgaddd  b) Chloroplast/gRdddd
c) Cell wall/®ITRrapT iy d) Vacuole/Rfgdar

60. Antibiotics are useful for which type ofinfections ?
foa yoR & "wHu ¥ fg G PG
il 82

a) only bacteria/W\_rﬁTﬂq b) Only virus/%ﬁﬁ'ﬁlm

c) Both bacteria and d) Neither bacteria nor virus

virus RGN K KT G S R AT

General Awareness

61. Which of the following is NOT man made

ecosystem?

fafafea § @ 19 a1 999 e uifRifest @
T &7
aquarium/aRa

a) Orchards/3<H b) Home
d) Grassland/gTg &7 g

c) Botanical

gardens/d -3

62. Which one of the following is NOT responsible for
water shortage?

fufafed & ¥ #19 91 *R® od F A & o

IR g 82
a) Rapid growth

industries/&ﬁ?ﬂw 2|

c) Forestation/@RTul

of b) Increasing  population/

SfHEAT

d) Mismanagment of water
resources ST YA BT

PUSYT
63. Y@ Hatag A fFg af 9 FE-de 99 F forw
- ST FISHT B F0RET 9OR P 82

The Ministry of Railways has outlined a five-
pronged plan to become carbon-neutral by which

year?
a) 2023 b) 2025
c) 2027 d) 2030

64. 39 & ¥ f5u 9% 7 §F ¥ yEH & fw Fl-ais
Hige 1S Al B & AT SBI HTS F ATY AR
Gk 1
Which bank has recently partnered with SBI Card to
launch co-branded credit card for the customers of
the bank?

a) U9 TS Y & Punjab b) UE AW & Punjab
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c)

65.

a)
c)

66.

a)
c)

67.

a)

c)

68.

a)

69.

a)
c)

70.

a)
c)

71.

a)
c)

and Sind Bank National Bank

YRA ®e & State d) d% 3 ¥SIaT Bank of

Bank of India Baroda

NavIC messaging system designed by __.

NavIC BT Rew _ gRT f$wims= fosar mam)
ISRO STRA b) NASA /T
SpaceX d) CNSA

304t WP ST fagTe S F1 e fy weR A
fear mam?

In which city was the 30th National Children's
Science Congress organized?

SRAYR Jaipur b) H¥s Mumbai
3EHCIEIE Ahmedabad  d) STTAR Bangalore

Aduweng & ¢ v F U H fHA T T §2

Who has been elected as the new President of TTFI?
DAY Al Kamlesh b) Ued ANl IS Patel
Mehta Nagendra Reddy

AT 3EAdd Meghna d) g®id  dIeTdl Dushyant

Ahlawat Chautala

gitens R Hfde 18 & U I a1 YR BT
U UHE Ted B A1 §?

Which is the first payment gateway in India to
support credit cards on UPI?

UETH Paytm b) T’Iﬁa Google Pay
B YAl Phone Pay d) ISR U Razor Pay
G20 3 farfta =T &1 Tug Ft ugeh 5@

5 wee F emaifora &t 182

In which city the first meeting of the G20
International Financial Structure Working Group
was held?

SIOYR Jaipur
T3 fewlt New Delhi

T frdpe ¥ Eiids & fw Haifye 1 T91 a
TETH P4 S 82

Who has become the highest run scorer for New
Zealand in Test cricket?

3 TR Ross Taylor
b fafermda

Williamson

5t w ¥ geu el &1 siwa 399 3.5,200
3R wfgemet ®1 fwd IaT . 4,200 gl W
FHHAIRG! BT 3Td Ia9 F. 5,000 31 39 BH A 7Y
HHaTal o uferera faan 82

Average salary of male employees in a firm is Rs.
5,200 and the average salary of women is Rs. 4,200.
Average salary of all employees is Rs. 5,000. What is
the percentage of male employees in that firm?

60% b) 20%
80% d) 40%

b) I Surat
d) EEIL ¢ Chandigarh

b) T TPA Martin Guptill
Kane d) TIA &fsd Tom Blundell

72.

a)

c)

73.

a)

c)

74.

a)
c)

75.

c)

76.

a)
c)

77.

TP ASfdpd HUAL ¢l Fis B ASfepal & ve g feT
H JUSY ¥. 6,000 BT ATY 3Hffd Fd 71 Al TP Fi
31 fapt gRT Sffa Y Fa@ ATH PT 45% §1 @ g
Fis $1 A5fea o1 fawt gR sifota ary ghm-

A bicycle company sells two brands of cycles on a
single day , get profit of Rs. 6,000. If the profit
earned by selling a brand is 45% of the total profit.
So the profit earned by selling the bicycle of
another brand will be-

¥. 5,000 Rs 5,000
¥. 3,250 Rs 3,250

T® it 9§, 919, Y UG ardt T F AP 79 T B,
AT Td gY SIh+T BT 3UTd5 : 11 § wafe et g
TSl i1 BT 3FUTd 7 : 15 &1 B Td Jara b o1
3uTd fa= gim

In a bag, red, green and pink colored tokens are
kept, the ratio of red and green tokens is 5: 11 while
the ratio of pink and red tokens is 7: 15. What will
be the ratio of green and pink tokens?

11:7 b) 33:7
75:77 dy 77:75

b) . 3,300 Rs 3,300
d) *.3,000 Rs 3,000

22 — [23 — {24 — (27— 29— 30)} @7 W fpaT

gm?

Find the value
of 22 — [23 — {24 — (27 — 29 — 30)}]

-5 b) -4

-3 d) 1

FTHAMT 6 km/h T TRT F 30 TR A TER TS, AP
I IRA H 91U 39 GHT IHB! Afd 5 km/h At
1

16 —
M WA F I pa 2 €e i THAMT WeX A
frait gr et 32
Rukasana went from his home to the city at a speed
of 6 km / h, but on his way back he had a speed of 5

16 —
km / h. It took him a total of 2 hours to arrive.
How far does Rukasana live from the city?

37.5 km b) 60 km
45 km d) 52.5km
Th a?ﬁﬂv'uf12cmaﬁ?16cm%I

gy
Tagys & A fagei 3t sew wR fAfda snepfa &1
Qe T gIM?
The diagonals of a rhombus are 12 cm and 16 cm.
What will be the area of the shape formed by
joining the midpoints of the rhombus?
64 cm? b) 48 cm?

96 cm? d) 192 cm?

14 cm T 3R 24 cm HATS $T TS UF 15 cm aTelt
PR & 99 F M W 3@ war g1 Ffda snefa #t
Tdg BT &T6d JId DT

Mob. - 01141676717,9312712114
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a)
c)

78.

a)
c)

79.

a)
c)

80.

a)
c)

81.

a)
c)

82.

c)

83.

a)
c)

84.

A cone of 14 cm diameter and 24 cm height is
placed on top of the cube of 15 cm core. Find the
surface area of the shape formed.

2054 cm? b) 1900 cm?
1675 cm? d) 1746 cm?
g & $ur .6250 BT R AT HIA B, S fp &) A9

H qiffe apqfs oI @1 & | F. 7840 § AL 1
S PIRI :

Deepa in bank Rs. 6250, which is compounded at
the rate of annual compound interest in two years.
It becomes 7840. The rate of interest is:

12% b) 13%

11% d) 10%

¥.689 Bt AT WM 9T W IS BT 6% BT aH
a1 arfivT w=ite &1 wa g foaem un

Raju gained 6% on selling the 689 rupee washing
machine. What was the purchase price of the
washing machine?

T. 625 Rs 625 b) . 700 Rs. 700
T. 635 Rs 635 d) ¥.650 Rs 650
¥.1,640 TR 7.5% & TIYRO] qIfiP TS I X A 6

aul # yre i fea- ghfte
What will be the amount received in 6 years at a
simple annual interest rate of 7.5% on 1,640?

T. 748 Rs 748 b) ¥.738Rs 738
T. 750 Rs 750 d) ¥.742Rs 742
1/2,2/5, 4/7 3R 6/17 BT 4.9. JTd PIOIQI

Find the LCM 1/2, 2/5, 4/7 and 6/17 ?

12 b) 6

18 d) 24

e p=36-2(20+12:4x3-2x2)+108 @ p

P g :

If p=36-2(20+ 12 +4x3-2x2)+ 10 what is the
value of p

4 b) -8

-2 d) -10

TH BEEN § 60 TFW & fw 35 T v@A 1
gyt At 10 & 91, SEEN & 15 goul iR o
W g1 SHt &R W SUUNT A & 918 A9 TR
fpaa & 9o SuahT oY o w82

In a hostel, there was a stay of 35 days for 60 men.
10 days later, 15 men arrive at the hostel. How
many days can the rest of the system be used after
consumption at the same rate?

20 f&1 20 days b) 18 18 days
25 &1 25 days d) 15 & 15 days

0.236 3t wrom® w7 & Rred T T WURT
i war g

0.236 find the simplest form of fraction ?

a)

c)

85.

a)
c)

86.

a)
c)
87.

a)

c)

88.

c)

89.

a)
c)

90.

a)
c)

91.

a)

13/3300
13/9999

13U A, T U3 §5 ¢! DI 5.6 Ul A Wrelt HR Fhdl
8, Safe urgy B, I Wrell E1 oI 7 6 H YR bl
21 ¢ B T WX TEd P RN A af UET A IR B,
P Y - T & YAS TP U & fore @ orar 7, @
@ B T@Telt HIA A a1 T9g a1 qHar 82

Pipe A can empty a filled tank in 5.6 hours, while
pipe B can fill the same empty tank in 7 hours. If
pipes A and B are opened alternately for one hour
each in case the tank is completely filled, how long
can it take to empty the tank?

48 °¢/Hours b) 56 ©c/Hours
47 ‘a%/Hours d) 55 Ei%/Hours

b) 13/550
d) 13/1100

7/11 &) SIHAT U H AT B |

Express 7/11 in decimal form.

0.62 » 0.623
0.63 , 0.633
frafifea 3 @ S v 9 A fursa @2

Which of the following numbers is divisible by 9?
45699 b) 45696
12348 d) 12381

162m T I@MSY 54 km/hr B T VA TF Wewrd
P 44 sec § TR B! & | WehTH Pt TS o1 §RI?

The 162m long train crosses a platform in 44 sec at
a speed of 54 km / hr. What will be the length of
the platform?
822 m
660 m

b) 498 m
d) 540 m

TS cos x + sin x =V2 cos x §, A cotx BT AT FT &?
If cos x + sin x = V2 cos x,what is the value of cotx ?
V2+1 b) V2

V2-1 d) 1

&M 2 I9T & Y 6% HIURU aTffes AT Bt G W
¥.3000 SYR TdT 7 R FAH AR $T 2 91a@ F g
9% dTfer YTYRUT TS W U A B IYR ¢ gl
?1 e B pa fpa-n ary gem

Akshay for 2 years at 6% simple annual interest rate
of Rs. 3000 borrows and lends the same amount to
his friend at 9% annual simple interest for 2 years.
How much will Akshay benefit ?

¥/Rs. 180 b) ¥./Rs. 150

¥. /Rs.120 d) ¥./Rs.90

cos? 5°+ cos? 10°+..... + cos? 90° The value of/ BT
0 1 8?

9l 81
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c)

92.

c)

93.

a)
c)

94.

a)
c)

95.

a)

96.

a)
c)

8 d) 4

X 3R Y B IFHN SR BT SUTE5 : 4 §1 39 & A
¥ qTg, SAP AT BT AJUTT 11 : 9 T AT Y Pt
a3y farast 87

The ratio of the present ages of X and Y is 5: 4.
Three years from now, their age ratio will be 11: 9.
What is the present age of Y?

229y b) 24 9%
26 a9 d) 2799
TP IWA9:5F o faurfra 81 919 ude |=

o 8 s feur wirar & 3rguTd 5 : 3 € Srar g Sl |
q 7Y o I A gnfe

A number is divided in the ratio of 9: 5. When 8 is
added to each number, the ratio becomes 5: 3,
which of the two will be the largest number?

80 b) 72
69 d) 81
TS A B12 : 3 & IJUTd | faufora fosar mani g1

e to Tip & FU | eran ot 7 St Furg
SHS YR PI BT & RN g, T B T 3
TP Ja9 A <rar ora1 ¢ e Sars 3UP YR &
T & IR 31 WP F MR B Bur 3R a7 Ft
TS BT SJUTd HT gRI?

A sphere was divided in the ratio 2: 3. The larger
part is molded as a cone whose height is equal to
the radius of its base, while the smaller part is
molded into a cylinder whose height is equal to the
radius of its base. What will be the ratio of the
radius of the base of the cone to the height of the
cylinder?

J9:32 b) V9:1
1:33 d) 3:1
TS JUg # 10 TSP 3R 10 dsfbai 31 59 g &

TO ASH! P! Wie F 91, ASfHAl BT Ufa=d 10%
FH g1 o1 7 | fra agd e T A

There are 10 boys and 10 girls in a group. After
adding some boys to this group, the percentage of
girls decreases by 10%. How many boys were
added?

1 b) 10
6 d) 4
frdt wem # 18 TSP F TH I W UK 3D BT

3T 16 B, 19 H&T | T 30 faenfal &1 ehwa 18.1
2| TSfPul & uTwis! o1 fid frar 82

The average of the marks obtained in a test of 18
boys in a class is 16, when the average of the total
of 30 students in the class is 18.1. What is the
average of girls' marks ?

21.25
20.5

b) 20.75
d) 21

97. ufe fgurdta Tefie=ur 6x% - 5x+1 = 0 & G Goa 3R B
2 AeT et ot SrowEm:
If the two roots of the quadratic equation 6x* -
5x+1 = 0 are a and B,then the sum of their square
of roots will be:
a) 13/26 b) 13/23
c) 13/36 d) 11/23
98. ( QUES : 98 - 100 ) Students from different
countries (A, B, C, D, EF) participated in a certain
seminar. The pie-chart shows how many students
came from each of the six participating countries.
Study the diagram and answer the following
questions.
fafirm 3=0 (A, B, C, D, E, F) 9 3T 31 A T fafkry
AR & ynT foran wE-=d g <wiar € f5 ©%
gfaurft ¢ A @ yde § fFaq o e g1 39
I FT AT B R FrafafEa vsi s13w )
The biggest contingent of students was from which
country?
B BT Had ST ¢ fHa S U
a) A b) C
c) B d) D
99. What is the angular measure (in degrees) of the
sector representing country A?
3 A Y g1 Tt &5 &1 Fivfty ATg (SR F) 7 R2
a) b)
100° 25°
c) d)
50° 120°
100. what count (in %) students from country Bat the
seminar were more than the students from country
E?
ANFR ¥ 3 B & O, TN E F BT F1 o # o
S (% H) A2
a) 40 b) 200
c) 50 d) 18
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